Bihar Constable Exam Model Question Paper -

Directions (Q. Nos. 1-2) Find the odd wordl letters/number from the given alternatives.
1.
(a) 432
(b) 583
(c) 693
(d) 671

2.
(a) 14-49
(b) 16-64
(c) 20-100
(d) 24-121

3. Nandini stops to walk after covering a distance of 10 km to the west. She then turns to the right and walks 8
km. Again she walks 4 km to the right. How far is she from her office?

(A) 18 km (B) 8 km

(C) 16 km (D) 10 km

4. Karishma is taller than Kajal. Kajal is taller than Vimal. Ankita is taller than Kajan and Vimal. Which is the
tallest?

(A) Karishma (B) Kajal

(C) Ankita (D) None of these

5. CTPN : DSQM : : MUSK : ?
(A) NUTL (B) NTTJ
(C) NTTL (D) LTRS

6. As 'Furniture’ is related to 'Bench’' in the same way 'Stationary’' is related to what?
(A) Godown (B) Room
(C) Pen (D) Chair

7. If the numbers divisible by 3 between 14 and 55 (both inclusive) and the numbers with 3 at units place of them
are removed then how numbers may will remain?

(A) 24 (B) 23
(C) 22 (D) 25
Answers -
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